APTITUDE QUIZ

1. A tradesman allows a discount of 15% on the marked price. How
much above the cost price must he mark his goods as to gain 19%?

UF AR el aEGHT F 3fFT Aew W 15% ge qar ¥, @ 3@ FEgAH W

fraen wfaera Aew JoreT 3ifFa Fem @ifed aifF 3/ 19% et &) |
(a) 34%
(b) 40%
(c) 25%
(d) 30%

2. Rita bought a television set 20% discount on the labelled price.
She made a profit of Rs. 800 by selling it for Rs. 16,800. The
labelled price of the set was

Jar o 3T AeT W 20% T FT IIod FA g TF Telifds=l F 16,800 F daa

800 ¥ o FHAT, df Tfderer #1 3ifFa Aew AT FX |

(a) Rs. 18,000
(b) Rs. 20,000
(c) Rs. 20,800
(d) Rs. 24,000

3. A fan is listed at Rs. 150 and a discount of 20% is given. Then
the selling price is

UF 9@ 9T T 150 Hew AfFa fFar aar 3 20% Hr ge & a8, O Ry qow w2

g ?

(a) Rs. 180
(b) Rs. 150
(c) Rs. 120
(d) Rs. 110
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4. The cost of manufacture of a tape recorder is Rs. 1,500. The
manufacture fixes the marked price 20% above the cost of

manufacture and allows a discount in such a way as to get a profit
of 8% . The rate of discount is

F SURSFET A AT 3cUeT Aed ¥ 20% o 3ifFa Far § 3R 587 vR ae

aar ¢ T 3@ 8% amer gar &, ar ge & gfdera AT X |
(a) 12
(b) 8
(c) 20
(d) 10

5. How much percent above the cost price should a shopkeeper
marks his goods so as to earn a profit of 32% after allowing a
discount of 12% on the marked price?

12% QT &t & qMaelg 32% o FALW & AT gHFEGR FI I9 TFd T AWM

Aed ¥ fraen ufaera sfew qea fFa wwem e 2
(a) 50%
(b) 40%
(c) 60%
(d) 45%

6. If a shirt cost Rs. 64, after 20% discount is allowed, what was its
original price in Rs?
20% BT F TRATATEH FHNST FT Hed X 64 ¢, dl WS aFdfad Hed N ?

(a) 76.80
(b) 80
(c) 88
(d) 86.80
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7. A shopkeeper marks his goods 15% above cost price, but allows
209% discount for cash. His net loss is

UF GHFEGR ATl Al W anrd Hed ¥ 15% 3% HAex 3ifFra wyar ¢, Afear
g T 20% T aaT §, ar 3 wfawa g AT |

(a) 3%

(b) 5%

(c) 8%

(d) 10%

8. Arvind purchased a wrist watch with 30% discount on the
labelled price. He sold it with 40% profit on the price he bought,
what was his percent loss on the labelled price?

P FeT W 30% P 9Itd A §U IXMAG & v Fog u T, F7 qpT W
40% VST FATT §C 38A U3 F1 99 foam, 3ifhd Aed W 37 e vfaera grfer g
?

(a) 2

(b) 6

(c) 4

(d) 8

9. A trader allows a discount of 10% on the marked price. He still
has a profit of 17% on the cost price. Find the profit percentage if
he sells at marked price.

UH AR 3HfPd HeT W 10% Fe a1 ¢, Y off a8 amrd qea W 17% e
FAGT ¢ | A 7% 3fFa Fqea W ag J°ar § A 3WHT Gfaerd anr Aa w+

(a) 27%

(b) 33%

(c) 30%

(d) 19%
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10. A tradesman marks his goods 30% more than the cost price. If
he allows a discount of 6% % then his gain percent is

UF AR Y6l a6 9N d0rd Aed @ 30% HfaF HAea 3ifFa star ¢ | Iy 7
6, % T &aT ¥ o 3T ST A AT HW |

(a) 232%

(b) 22 %

(c) 30-%
(d) 30 %

11. A retailer purchased radio sets at the rate of Rs. 400 each from
a wholesaler. He raised the price by 30% and then allowed a
discount of 8% on each set. His profit will be

TH REX & gade} ¥ 400 T gfa AT Y o & WA @de | v A w
30 30% Hed dorT 3ifdhd fFam aur 8% ©e &ar §, @Y 3wWer wfaerad @mr A
T |

(a) 19%

(b) 78.4%

(c) 22%

(d) 19.6%

12. An article which is marked at ¥ 975 is sold for ¥ 897. The percent
discount is

U & 1 IAfhd Ao T 975 § 3N 5@ T 897 F = aam §, @ ge F wfawd
AT #Y
(a) 12%

(b) 10%
(c) 6%
(d) 8%
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13. The difference between successive discounts of 40% followed

by 30% and 45% followed by 20% on the marked price of an article
is ¥ 12.The marked price of the article is:

UF TEJ W 40% T T 30% 3R 45% T B 20% T F FAF g 1 I
T 12 7 | aF 9% &7 3ifFa Ao AT W |

(a) Rs. 400
(b) Rs. 800
(c) Rs. 600
(d) Rs. 200

14. 10% discount and then 20% discount in succession is
equivalent to total discount of

10% YT 20% & FAF T & T TF T F4T gl ?
(a) 15%

(b) 30%
(c) 24%
(d) 28%

15. A book seller sells a book at a profit of 10%. If he had bought it
at 4% less and sold it for Rs. 6 more. He would have gained 18% %.
The cost price of the book is

U qEds fashdl T fhda 10% a7 @ auar ¢ | I 98 39 fhaw #1 4% FA
Aed W Eledr au1 6 T #AF Heg W ATar @ 18- % F AN B, TEAT
F1 FT Hed A 1 |

(a) Rs. 130
(b) Rs. 140
(c) Rs. 150
(d) Rs. 160
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16. An increase of Rs. 3 in the selling price of an article turns a loss
of 7% % into a gain of 7% %0. The cost price (in Rs.) of the article is:
Pl g & R A R A IV a7, % o & 953 7, % amr g @, O
T F HFI-Hed AT Y |

(a) 25

(b) 20

(c) 15
(d) 10

17. A fruit seller makes a profit of 20% by selling mangoes at a
certain price. If he charges Rs. 1 more for each mango, he can make
a profit of 40%. Find the selling price of a mango in the first case.

F ARTT Aew W AT F S9FT 0F G [Ashar 20% @ FAGT 7 | IR W T
1 3% & e 3w d9ar §, @ 3@ 40% T gem | ggeh fPufa F ww 3w #
faswa #Hea a1a X |

(a) Rs. 6

(b) Rs. 5

(c) Rs. 5.50
(d) Rs. 7

18. A grocery dealer cheats to the extent of 10% while buying as
well as selling by using false weight. What is his increase in the
profit percentage?

IS FTEH FT IUANRT FI& TF GHEGR @lad TAT 10% T ATH FACT o adT

dud §AT Y 10% ST FATAT ¢, A 3HS gfaerd amr & s it gl |
(a) 20%

(b) 21%

(c) 22%

(d) None of these

_ Mob:- 7340013913 , 8829988088 For Daily GK — Visit — www.gkindiatoday.com




Certified Institute
19. A businessman bought an article and sold it at a loss of 5%. If

he had bought it for 10% less & sold it for Rs. 33 more, he would
have had a profit of 30%. The cost price of the article is

S & TF AT @ler 3 3@ 5% gfa o o9 Rar | i 9 I+ ¥ 10%
FH Aed W, Glgar 3R 33 T a0 Aeg W Igar o 3§ 30% @7 garn, a

HHAA HT AR Hed AT F |

(a) Rs. 330
(b) Rs. 155
(c) Rs. 150
(d) Rs. 300

20. A tradesman sold an article at a loss of 20%. If the selling price
had been increased by Rs. 100, there would have a gain of 5%. The
cost price of the article (in Rs.) was

UF SAMH TF a8 20% & 9 a=ar § | Ify &, 100 T @er fr smar @, &
5% W18 ghaT §, a 9% FT FT {ed AT F |

(a) 100
(b) 200
(c) 400
(d) 500

ANSWERS

1.B

5.A
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6.B
7.C
8.A
9.C
10. C
11.D
12.D
13.C
14.D
15.C
16. B
17. A
18. B
19. C

20. C
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